
1. Kartarpur Sahib Gurudwara to which a corridor was opened, falls in which district of 

Western Punjab (Pakistan) ?  

 (a) Gujranwala (b) Mianwali (c) Lahore (d) Narowal 

 

2. In which country 2019 AFC Asian Cup (Football) was held ?  

 (a) Japan   (b) United Arab Emirates 

 (c) India   (d) Oman 

 

3. What was the age of well known film maker Mrinal Sen when he died in Kolkata on Dec. 

30, 2018 ?  

 (a) 89 years (b) 91 years (c) 93 years (d) 95 years 

 

4. How many space missions for the year 2019 were announced by ISRO chief in his new 

year message (2019) to employees ?  

 (a) 26 (b) 28 (c) 30 (d) 32 

 

5. Amos Oz who died on December 28, 2018, was a :  

 (a) French Philosopher   (b) Israeli writer 

 (c) British Sociologist  (d) German musician 

 

6. On which date general election (parliamentary) in Bangladesh was held ? 

 (a) December 28, 2018  (b) December 29, 2018 

 (c) December 30, 2018  (d) Jan. 1, 2019 

 

7. Which has become the first state to launch a single emergency number “112” ?  

 (a) Himachal Pradesh  (b) Gujarat 

 (c) Andhra Pradesh  (d) Kerala 

 

8. In which city ‘Women of India Organic Festival” was organized in January 2019 ?  

 (a) New Delhi (b) Bangalore (c) Chandigarh  (d) Chennai 

 

9. Who has succeeded Pahlaj Nihlani as the chairperson of the Central Board of Film 

Certification ?  

 (a) Anupam Kher   (b) Gajendra Chauhan 

 (c) Chandra Prakash Dwivedi (d) Parsoon Joshi 

 

10. Which film was nominated from India for Oscar – 2018 ?  

 (a) Barfi (b) Visaranai (c) Newton (d) Aligarh 

 

11. From which date GST became operational in India ?  

 (a) July 1, 2017   (b) November 8, 2017 

 (c) July 30, 2017   (d) March 1, 2017 

1.  
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 (a)  (b)  (c)  (d)  

 

2. 2019  

 (a)    (b)   

 (c)    (d)  

 

3. 30 2018  

 (a) 89  (b) 91  (c) 93  (d) 95  

 

4. (2019) 2019 
 

 (a) 26 (b) 28 (c) 30 (d) 32 
 

5. 28  2018  

 (a)    (b)  

 (c)   (d)  

 

6.  

 (a) 28 2018   (b) 29 2018  

 (c) 30 2018   (d) 1 2019  

 

7. “112”  

 (a)  (b)  (c)  (d)  

 

8. 2019  

 (a)  (b)  (c)  (d)  

 

9.   

 (a)    (b)  

 (c)   (d)  

 

10. -2018  

 (a)  (b)  (c)  (d)  

 

11.  

 (a) 1 2017   (b) 8 2017  

 (c) 30 2017   (d) 1 2017  

12. Mission “Indradhanush” belongs to : 
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 (a) Urbanization   (b) Immunization   

 (c) Health and Hygiene  (d) Reviving Rural India 

 

13. India’s first bullet train will run between :  

 (a) New Delhi and Varanasi (b) Bangalore and Chennai 

 (c) Ahmedabad and Mumbai (d) New Delhi and Chandigarh 

 

14. ‘National Voters Day’ is celebrated on :  

 (a) 24 January (b) 25 January (c) 20 January (d) 29 January 

 

15. Who among the following has not been a Governor of RBI ?   

 (a) Manmohan Singh  (b) Bimal Jalan 

 (c) Montek Singh Ahluwalia (d) Urjit Patel  

 

16. Which city will host Olympic Games, 2020 ?  

 (a) Tokyo (b) Paris (c) Los Angeles (d) London 

 

17. How many states have signed the agreement for Renukaji Dam Multipurpose project ?  

 (a) Four (b) Seven (c) Three (d) Six 

 

18. Which online campaign has been launched by the Ministry of Women and Child 

Development ?  

 (a) World-Web Women  (b) Wonder-World Women 

 (c) Web-Wide Women  (d) Web-Wonder Women 

 

19. Who was awarded the first World Agriculture Prize for his contribution to Indian 

agriculture ?  

 (a) P. Sainath (b) M.S. Randhawa (c) M.S. Swaminathan (d) G. Nammalvar 

 

20. Who has been appointed as India’s first ever Youth Ambassador by the UNICEF ?  

 (a) Hima Das (b) P.V. Sindhu (c) Saina Nehwal (d) Vinesh Phogat 

 

21. “National Science Day” is celebrated on :   

 (a) January 28 (b) March 28 (c) February 28 (d) April 28 

 

22. Who among the following has not been a Governor of Uttarakhand ?  

 (a) Margret Alva   (b) Nityanand Swamy 

 (c) B.L. Joshi   (d) Surjeet Singh Barnala 

 

23. Who has become the first Indian to head the Global Solar Council ? 

 (a) Naveen Kumar   (b) Kirti Ranjan 

 (c) Suresh Kumar   (d) Pranav R. Mehta 

12.  
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 (a)    (b)   

 (c)   (d)  

 

13.  

 (a)   (b)  

 (c)   (d)  

 

14.  

 (a) 24  (b) 25  (c) 20  (d) 29  

 

15.  

 (a)    (b)  

 (c)  (d)  

 

16. 2020  

 (a)  (b)  (c)  (d)  

 

17.  

 (a)  (b)  (c)  (d)  

 

18. -  

 (a) -  (b) -  (c) -  (d) -  

 

19.  

 (a)    (b)  

 (c)   (d)  

 

20.  

 (a)  (b)  (c)  (d)  

 

21.  

 (a) 28  (b) 28  (c) 28  (d) 28  

 

22.  

 (a)  (b)  (c)  (d)  

 

23.  

 (a)  (b)  (c)  (d)  

24. Which state has set to become the first Indian state to roll out Universal Basic Income ?  
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 (a) Karnataka (b) Sikkim (c) Maharashtra (d) West Bengal 

 

25. In which state “Gangajal Project” was launched ?  

 (a) Uttarakhand (b) Haryana (c) Uttar Pradesh (d) Punjab 

 

26. In which city Indian Panorama film festival 2019 was organised ?  

 (a) Mumbai (b) New Delhi (c) Goa (d) Hyderabad 

 

27. ‘Adhai-Din-ka-Jhopara’ was built by  

 (a) Iltutmish   (b) Qutubuddin Aibak 

 (c) Balban   (d) Muhammad-bin-Tughlaq 

 

28. The capital during the reign of Qutubuddin was   

 (a) Delhi (b) Multan (c) Lahore (d) Sind 

 

29. During whose reign did Tulsidas compose the ‘Ramcharitmanasa’ ? 

 (a) Akbar (b) Humayun (c) Jahangir (d) Shahjahan 

 

30. Amir Khusrau was a musician and a 

 (a) Sufi saint   (b) Persian and Hindi writer 

 (c) Historian and scholar (d) All of these 

 

31. The first governor general of the Government of Bengal was :  

 (a) Robert Clive (b) Lord Cornwallis (c) Warren Hastings (d) None of these 

 

32. Who led the Ahmedabad Labour strike of 1918 ?  

 (a) Sardar Vallabh Bhai Patel (b) Mahatma Gandhi 

 (c) Balgangadhar Tilak  (d) Gopal Krishna Gokhale 

 

33. Who was the first Indian Women President of Congress ?  

 (a) Mrs. Sarojini Naidu  (b) Aruna Asaf Ali 

 (c) Mrs. Annie Besant  (d) Mrs. Vijay Laxmi Pandit 

 

34. ‘Religion is the opium to the masses.’ This is the statement of  

 (a) Jermy Bentham  (b) T.H. Green 

 (c) Karl Marx   (d) Lenin 

 

35. The basic theory of ‘Liberalism’ is :  

 (a) Social justice (b) Nationalism (c) Individual liberty (d) Equality 

24.  
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 (a)  (b)  (c)  (d)  

 

25.  

 (a)  (b)  (c)  (d)  

 

26. 2019  

 (a)  (b)  (c)  (d)  

 

27. - - -  

 (a)  (b)  (c)  (d) - -  

 

28.  

 (a)  (b)  (c)  (d)  

 

29.  

 (a)  (b)  (c)  (d)  

 

30.  

 (a)    (b)   

 (c)   (d)  

 

31. -  

 (a)  (b)  (c)  (d)  

 

32. 1918  

 (a)   (b)  

 (c)   (d)  

 

33.  

 (a)   (b)  

 (c)    (d)  

 

34.  

 (a)  (b)  (c)  (d)  

 

35.  

 (a)  (b)  (c)  (d)  

36. Who was the convenor of ‘Vienna Congress’ ?   

 (a) Bismarck (b) Metternich (c) Francis I  (d) Czar Alexander I 
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37. Who was the first Indian to become a member of the House of Common in England ?  

 (a) S.N. Banerjee   (b) W.C. Banerjee 

 (c) Dada Bhai Naoroji  (d) G.K. Gokhale 

 

38. At the time of ‘Quit India Movement’ where the first Indian parallel government was formed ?  

 (a) Balia (b) Burdwan (c) Satara (d) Midnapur 

 

39. Who wrote ‘Setubandh’ ?  

 (a) Rudra Sen II (b) Pravar Sen II (c) Vindhyashakti (d) Basudeva 

 

40. By which name, the agreement between Napoleon and the pope is known ?   

 (a) Indulgence (b) Tithe (c) Cancordat (d) None of these 

 

41. Where is Bhimbetaka rock shelter site located ?  

 (a) Gujarat (b) Maharashtra (c) Madhya Pradesh (d) Uttar Pradesh 

 

42. Which of the following inscriptions give the information about two Ashwamedha Yajnas 

performed by the King Pushyamitra Sunga ?  

 (a) Sarnath inscription  (b) Besnagar inscription 

 (c) Hathigumpha inscription (d) Ayodhya inscription 

 

43. Who founded the bourbon dynasty in France ?  

 (a) Henry IV (b) Henry V (c) Henry VII (d) Henry VIII 

 

44. Who was the painter of the Last Judgement ?  

 (a) Raphel (b) Michelangelo (c) Leonardo-da-Vinci (d) Jeato 

 

45. Who is called the Modern Chanakya ?  

 (a) Dante (b) Montesque (c) Machiavelli (d) Rousseau 

 

46. Under whose rule the post of Naib-i-Mumlikat was created ?  

 (a) Rukunuddin Firoz Shah (b) Alauddin Masaud Shah 

 (c) Bahram Shah   (d) Aaram Shah 

 

47. Out of the following states, which state of India recorded the lowest decadal growth rate of 

population between 2001 and 2011 ?   

 (a) Nagaland (b) Punjab (c) Madhya Pradesh (d) Manipur 

 

48. Which one of the following states of U.S.A. (United State of America) is famous for wheat 

cultivation in spring season ?  

 (a) North Dakota (b) Texas (c) Nebraska (d) California 

36.  

 (a)  (b)  (c)  (d)  
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37.  

 (a)  (b)  (c)  (d)  

 

38.  

 (a)  (b)  (c)  (d)  

 

39.  

 (a)  (b)  (c)  (d)  

 

40.  

 (a)  (b)  (c)  (d)  

 

41.  

 (a)  (b)  (c)  (d)  

 

42.   

 (a)   (b)   

 (c)   (d)  

 

43.  

 (a)  (b)  (c)   (d)  

 

44.  

 (a)  (b)  (c) - -  (d)  

 

45.  

 (a)  (b)  (c)  (d)  

 

46. - -  

 (a)   (b)  

 (c)    (d)  

 

47. 2001 2011  

 (a)  (b)  (c)  (d)  

 

48.  

 (a)  (b)  (c)  (d)  

49. In which of the following major Himalayan ranges, is the Pir Panjal range located ?  

 (a) Lesser Himalaya  (b) Trans Himalaya 
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 (c) Greater Himalaya  (d) Siwalik 

 

50. Which one of the following passes connects Arunachal Pradesh with Tibet ?  

 (a) Aghil pass (b) Banihal pass (c) Chang la pass (d) Bom di la pass 

 

51. In which of the following states, coal reserve is highest in India ? 

 (a) Orissa (b) Chhattisgarh (c) Jharkhand (d) West Bengal 

 

52. In which of the following mountain ranges, the Pachmarhi Hill station is situated ?  

 (a) Vindhyachal (b) Satpura (c) Aravali (d) Ajanta 

 

53. Which one of the following Islands, is known as the ‘rice bowl’ of Japan ?  

 (a) Kyushu (b) Shikoku (c) Ryuku (d) Honshu 

 

54. Which one of the following is the chief agricultural characteristic of tropical and sub-

tropical region ?  

 (a) Intensive farming  (b) Extensive farming 

 (c) Sparsely cultivated areas (d) Very high productivity farming  

 

55. Hudhud cyclone was associated with which of the following coastal regions of India ?  

 (a) Andhra coastal region (b) Kerala coastal region 

 (c) Bengal coastal region (d) Chennai coastal region 

 

56. From which of the following meridians, is the Greenwich Mean Time (GMT) reckoned ?   

 (a) 66° 30' (b) 23° 30' (c) 0° (d) 82° 30' 

 

57. Identify the chief iron-ore mining centres of the Great Lakes region of United States of 

America :  

 (a) Birmingham, Pittsburg, Chicago (b) Duluth, Mesabi, Vermillion 

 (c) Los Angeles, Pueblo, Pittsburg (d) Dallas, Pittsburg, Mesabi 

 

58. Who of the following scholars had used the following method for calculating crop 

combination indices for the first time ?  

  = 
d2

N
   

 (a) K.K. Doi (b) J.C. Weaver (c) A.P. Pownall (d) S.M. Rafiullah 

 

59. Which one of the following states of India has the highest density of population as per 

2011 census ?  

 (a) Kerala (b) Uttar Pradesh (c) West Bengal (d) Bihar 

 

60. In which of the following states of India, the ‘Bokaro iron and steel plant’ is situated ?  

 (a) Bihar (b) West Bengal (c) Jharkhand (d) Chhattisgarh 

49.  
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 (a)  (b)  (c)  (d)  

 

50.  

 (a)  (b)  (c)  (d)  

 

51.  

 (a)  (b)  (c)  (d)  

 

52.  

 (a)  (b)  (c)  (d)  

 

53.  

 (a)  (b)  (c)  (d)  

 

54.  

 (a)    (b)  

 (c)    (d)  

 

55.  

 (a)  (b)  (c)  (d)  

 

56. (Meridians)  

 (a) 66º 30' (b) 23º 30' (c) 0º (d) 82º 30' 

 

57.  

 (a)  (b)  

 (c)  (d)  

 

58. 

? 

   = 
d2

N
  

 (a)  (b)  (c)  (d)  

 

59. 2011  

 (a)  (b)  (c)  (d)  

 

60.  

 (a)  (b)  (c)  (d)  

61. In which one of the following countries, ‘Taklamakan’ desert is located ?   
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 (a) Mongolia (b) Tajikistan (c) China (d) Kazakhstan 

 

62. Genoa is a famous and leading sea-port of which one of the following countries ?  

 (a) France (b) Spain (c) Brazil (d) Italy 

 

63. In which of the following states of India, Indira Gandhi Super Thermal Power Project is 

located ?   

 (a) Haryana (b) Uttarakhand (c) Uttar Pradesh (d) Rajasthan 

 

64. The Hwang-Ho river which is known as the ‘Sorrow of China’ falls into which seas of the 

following ?  

 (a) East Sea (Sea of Japan) (b) Yellow Sea 

 (c) East China Sea  (d) South China Sea 

 

65. In which of the following Himalayan valleys, Shipki-La pass is located ?  

 (a) Nubra Valley (b) Chandra Valley (c) Sutlej Valley (d) Brahmaputra Valley 

 

66. Which of the following states of India has the largest population of scheduled castes as per 

2011 census ?  

 (a) Bihar (b) Uttar Pradesh  (c) Punjab (d) West Bengal 

 

67. Who was the Chairman of the First Law Commission ?  

 (a) Sir John Shore   (b) Lord William Bentinck 

 (c) Lord Macaulay  (d) Lord Clive  

 

68. Cripps Mission came in India on : 

 (a) 10 March 1943  (b) 11 March 1942 

 (c) 20 March 1942   (d) 20 April 1942 

 

69. When the British Parliament enacted an Act authorising the crown to issue charters to 

establish Recorder’s Court at Bombay and Madras ?  

 (a) In 1797 (b) In 1796 (c) In 1795 (d) In 1798 

 

70. In which year the Mughal Emperor Shah Alam granted the ‘Deewani of Bengal’ to 

company ?   

 (a) In 1762 (b) In 1763 (c) In 1764 (d) In 1765 

 

71. By the Regulating Act, 1773, the Supreme Court was created at which place out of the 

following ?  

 (a) Bombay (b) Madras (c) Calcutta (d) Surat 

 

72. Portuguese were the first European nations to acquire land of Bombay in the year of  

 (a) 1600 (b) 1661 (c) 1534 (d) 1668 

61.  
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 (a)  (b)  (c)  (d)  

 

62.  

 (a)  (b)  (c)  (d)  

 

63.  

 (a)  (b)  (c)  (d)  

 

64. -  

 (a)  (b)  

 (c)    (d)  

 

65.  

 (a)  (b)  (c)  (d)  

 

66. 2011 
 

 (a)  (b)  (c)  (d)  

 

67.  

 (a)  (b)  (c)  (d)  

 

68. – 

 (a) 10 1943   (b) 11 1942  

 (c) 20 1942   (d) 20 1942  

 

69. 

 

 (a) 1797  (b) 1796  (c) 1795  (d) 1798  

 

70.  

 (a) 1762  (b) 1763  (c) 1764  (d) 1765  

 

71. 1773  

 (a)  (b)  (c)  (d)  

 

72. – 

 (a) 1600  (b) 1661  (c) 1534  (d) 1668  

73. The principle of ‘Renvoi’ is related to ________ 
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 (a) Private International Law (b) Public International Law 

 (c) Municipal Law  (d) Hindu law 

 

74. Which one of the following charters initiated the system of appeals from the courts in India 

to the privy council in England ?  

 (a) Charter of 1661  (b) Charter of 1753 

 (c) Charter of 1726  (d) Charter of 1773 

 

75. Lex Loci Report was presented by : 

 (a) First Law Commission (b) Second Law Commission 

 (c) Third Law Commission (d) Fourth Law Commission 

 

76. The Chaultry Court was related to the matters concerning to  

 (a) petty cash   (b) heinous offences 

 (c) big civil matters  (d) big civil and revenue matters 

 

77. In Judicial plan of 1772, the Sadar Nizamat Adalat consisted of an Indian judge, who was 

known as  

 (a) Nawabe-Adalat  (b) Muftees Adalat 

 (c) Darogaie Adalat  (d) Maulvi-a-adalat 

 

78. ‘Amicus Curiae’ is a person who helps the court in any judicial proceedings voluntarily or 

on the invitation of   

 (a) The Plantiff (b) The Defendant (c) The Court (d) None of these 

 

79. The maxim ‘Res ipsa loquitur’ denotes   

 (a) The Thing speaks for itself (b) A case of Noval Impression 

 (c) According to Pleadings and Proofs (d) A thing which has no owner 

 

80. The maxim ‘ubi jus ibi remedium’ denotes :  

 (a) Where there is a right, there is a remedy 

 (b) Where there is no right, there is remedy 

 (c) Where there is right, there may be no remedy 

 (d) Where there is remedy, there may not be a right   

 

81. Abatement means : 

 (a) to increase (b) to decrease (c) to compromise (d) to abet 

73.  
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 (a)  (b)  

 (c)   (d)  

 

74. 

 

 (a) 1661  (b) 1753  

 (c) 1726  (d) 1773  

 

75.  

 (a)   (b)  

 (c)   (d)  

 

76. ________ 

 (a) -   (b)  

 (c)   (d)  

 

77. 1772 
 

 (a)  (b)  (c) - -  (d) - -  

 

78. 

 

 (a)  (b)  (c)  (d)  

 

79.  

 (a)   (b)   

 (c)  (d)  

 

80.  

 (a)   

 (b)  

 (c)   

 (d)  

 

81.  

 (a)  (b)  (c)  (d)  

82. ‘Acquiesce’ means  



HAR 15 Series-A 

 (a) To gain as one’s own (b) To admit as true 

 (c) To make aware  (d) To give passive assent to  

 

83. ‘Mutatis mutandis’ means  

 (a) The manner of living 

 (b) Mode of operating 

 (c) With the necessary changes in points of details 

 (d) A bad custom 

 

84. ‘Inter alia’ means  

 (a) Within the powers  (b) Beyond one’s powers 

 (c) Amongst other things (d) By the law itself 

 

85. ‘Moratorium’ means 

 (a) Moral duty to pay the debt 

 (b) Legal duty to pay the debt 

 (c) Legal authorization to a debtor to postpone payment for a certain time 

 (d) None of these 

 

86. ‘Misfeasance’ means  

 (a) Misconduct 

 (b) Improper performance of a lawful act 

 (c) Proper performance of an illegal act 

 (d) Proper performance of a lawful act 

 

87. ‘Ejusdem’ generis, means  

 (a) Of the same kind  (b) Of the different kind 

 (c) To know from association (d) Intention of the legislature 

 

88. ‘Nudum pactum’ means  

 (a) With consideration  (b) Without consideration 

 (c) Not of sound mind  (d) Sharer of a crime 

 

89. The term ‘persona non grata’ means  

 (a) An acceptable person to a country. (b) An unacceptable person to a country. 

 (c) An specified person  (d) None of these  

 

90. ‘Pendente lite’ means  

 (a) Before litigation  (b) During litigation 

 (c) After litigation  (d) None of these 

 

91. The term ‘Pacta Sunt Servanda’ relates to   

 (a) Hindu law (b) Muslim law (c) International law (d) Municipal law 

82.  



HAR 16 Series-A 

 (a)  (b)  

 (c)    (d)  

 

83.  

 (a)    (b)  

 (c)  (d)  

 

84.  

 (a)    (b)   

 (c) -  (d)  

 

85.  

 (a)    
 (b)  

 (c)   

 (d)  

 

86.  

 (a)    (b)  

 (c)  (d)  

 

87.  

 (a)  (b)  (c)  (d)  

 

88.  

 (a)  (b)  (c)  (d)  

 

89.  

 (a)  (b)  

 (c)   (d)  

 

90.  

 (a)  (b)  (c)  (d)  

 

91.  

 (a)  (b)  (c)  (d)  

92. ‘Per incurium’ means  
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 (a) Through carelessness (b) Through carefulness 

 (c) To incur expenses  (d) Incurable  

 

93. ‘Vigilantibus, et non dormientibus jura sub veniunt’ means  

 (a) Law gives right to a competent persons only. 

 (b) Law does not protect dormant. 

 (c) The law gives right to both vigilant and dormant persons. 

 (d) The law give help to those who are watchful and not to those who go to sleep. 

 

94. ‘Noscitur a sociis’ means  

 (a) Statute must be read as a whole (b) Intention of the legislature 

 (c) One is known by his companions (d) None of the other 

 

95. The meaning of ‘Ad Valorem’ is  

 (a) Valuable advertisement (b) Value added system 

 (c) Additional value  (d) According to the value 

 

96. ‘Pro bono publico’ means  

 (a) Profit for a person  (b) For the public good 

 (c) Where public is banned  (d) Where a society can earn profit 

 

97. ‘Prima facie’ means  

 (a) Face is primary   (b) Face is not important 

 (c) At the first sight   (d) According to person  

 

98. The basic feature of Judicial plan of 1780 was separation between   

 (a) Judicial and Executive function (b) Revenue and Judicial functions 

 (c) Legislative and Judicial functions  (d) Revenue and Executive functions 

 

99. Who abolished the system of circuit courts ?   

 (a) By Lord Bentinck  (b) By Lord Wellesley 

 (c) By Lord Cornwallis  (d) By Sir John Shore 

 

100. In which of the following cases, Chief Justice, Impey of the supreme court has been 

accused of committing a judicial murder ?  

 (a) Saroop Chand case  (b) Patna case 

 (c) Cassijurat case  (d) Nand kumar case  

 

101. In which year the Black Act was passed subjecting the British subjects to the Jurisdiction 

of the Company’s Civil Courts ?  

 (a) 1833 (b) 1836 (c) 1843 (d) 1884 

 

92.  
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 (a)   (b)  

 (c)    (d)  

 

93.  

 (a)  

 (b)  

 (c)  

 (d)  

 

94.  

 (a)  (b)  

 (c)    (d)  

 

95.  

 (a)    (b)  

 (c)    (d)  

 

96.  

 (a)  (b)  

 (c)  (d)  

 

97.  

 (a)    (b)  

 (c)    (d)  

 

98. 1780  

 (a)  

 (b)  

 (c)  

 (d)  

 

99.  

 (a)  (b)  (c)  (d)  

 

100.    

 (a)  (b)  (c)  (d)  

 

101.  

 (a) 1833  (b) 1836  (c) 1843  (d) 1884  
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102. Which one of the following Governor-Generals, introduced, for the first time, the principle 

of administration according to law ?  

 (a) By Lord Hastings   (b) By Lord Cornwallis 

 (c) By Lord Minto  (d) By John Shore 

 

103. Which one of the following Governor-Generals, had imposed court fees with the view to 

reduce congestion of work in adalats and expedite disposal of cases ?  

 (a) By Lord Hastings  (b) By Lord Minto 

 (c) By Lord Wellesley  (d) By John Shore  

 

104. Which one of the following Governor-Generals had created the Second Sadar Diwani 

Adalat and Sadar Nizamat Adalat at Allahabad ?  

 (a) By William Bentincks (b) By Lord Wellesley 

 (c) By John Shore   (d) By Lord Clive  

 

105. Who among the following Governor-Generals had completely done away with the practice 

of appointment of Chief Judge of Sadar Adalats, from the members of Council of 

Governor General ?    

 (a) By Lord Wellesley  (b) By Lord Cornwallis 

 (c) By Lord Minto  (d) By Lord Clive 

 

106. The Indian Law Reports Act was passed first time in the year :  

 (a) 1874 (b) 1875 (c) 1876 (d) 1877 

 

107. The name of the capital of Katyuris in Pandukeshwar copper plate is mentioned as : 

 (a) Karveerpur (b) Kartikeyapur (c) Tankanpur (d) Harshpur 

 

108. The State level Cooperative Dairy Training Institute in Uttarakhand is located at : 

 (a) Dehradun (b) Almora (c) Lalkuan (d) Haridwar 

 

109. Match List I with List II and select the correctly matched combination :   

 List I (Project)  List II (Rivers) 

A. Khameeta I. Tons 

B. Cheela II. Yamuna 

C. Chibbro III. Sharda 

D. Dhalipur IV. Ganga 

  A B C D 

 (a) II  III  IV  I 

 (b) III  II  I  IV 

 (c) III  IV  I  II 

 (d) I  II  III  IV 

 

110. The contribution of tertiary sector in the income of Uttarakhand after its formation is :  

 (a) constant (b) decreasing  (c) increasing  (d) inconsistent  
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102. -  

 (a)  (b)  (c)  (d)  
 

103. -
 

 (a)    (b)  

 (c)   (d)  
 

104. -
 

 (a)   (b)  

 (c)    (d)  
 

105. - -
  

 (a)   (b)  

 (c)    (d)  
 

106.  

 (a) 1874  (b) 1875  (c) 1876  (d) 1877  
 

107.  

 (a)  (b)  (c)  (d)  
 

108.  

 (a)  (b)   (c)  (d)  
 

109. -I -II  

-I 

 

-II 

 

A.  I.  
B.  II.  
C.  III.  
D.  IV.  

  A B C D 

 (a) II III IV I 

 (b) III II I IV  

 (c) III IV I II  

 (d) I II III IV 

 

110.  

 (a)  (b)  (c)  (d)  
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111. The sub office of Reserve Bank of India in Uttarakhand was established in : 

 (a) April 2002 (b) May 2004 (c) June 2006 (d) July 2007 

 

112. The first Institute established in Dehradun is  

 (a) Survey of India  (b) Space Application Centre 

 (c) Forest Research Institute (d) Indian Institute of Remote Sensing  

 

113. Which of the following thrusts/fault lines separate the Lesser Himalaya from the Greater 

Himalaya ?  

 (a) Main boundary thrust/fault  (b) Trans-himadri thrust/fault 

 (c) Main central thrust/fault (d) Himalayan front fault/thrust 

 

114. Arrange the following districts of Uttarakhand in the ascending order of their literacy 

percentage (2011) ?  

 (a) Uttarkashi, Tehri-Garhwal, Bageshwar, Haridwar 

 (b) Haridwar, Uttarkashi, Tehri-Garhwal, Bageshwar 

 (c) Tehri-Garhwal, Bageshwar, Haridwar, Uttarkashi 

 (d) Bageshwar, Haridwar, Uttarkashi, Tehri-Garhwal 

 

115. Which of the following pairs is not correctly matched ?  

 (a) Dudhatoli Peak – Garhwal district (b) Bhagirathi river – Tehri Dam  

 (c) Khatling Glacier – Tehri Garhwal district (d) Roopkund – Bageshwar  

 

116. Which of the following is the highest peak ?  

 (a) Nanda Ghunti  (b) Panchachuli (c) Nandakot (d) Hardewal  
 

117. The highest percentage of the Scheduled Tribe Population according to the Census of 2011 

has been recorded in :   

 (a) Pithoragarh (b) Chamoli (c) Dehradun (d)   Udhamsingh Nagar 
 

118. How many Rajya sabha members are elected from Uttarakhand ?  

 (a) 2 (b) 4 (c) 5 (d) 3 
 

119. How many members of State Legislative Assembly in Uttarakhand are nominated by the 

Governor ?  

 (a) 5 (b) 2 (c) 3 (d) 1 
 

120. Which of the following is not propertly matched ?  

 (a) Haridutt Bhatt Shailesh – Writer (b) Kalu Mahara – Freedom Fighter 

 (c) K.S. Waldia – Mountaineer (d) Ekta Bisht – Cricketer  
 

121. The percentage of seats reserved for women in Uttarakhand Panchayat Raj is  

 (a) 33 (b) 50 (c) 40 (d) 52 
 

122. Which of the following is related with Kuninda Kings ?  

 (a) Vigrahraj – Prithviraj (b) Dhanbhuti – Amoghbhuti 

 (c) Krishnadevrai – Ramrai (d) Ashokchalla - Krachalla 
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111. -  

 (a) 2002  (b) 2004  (c) 2006  (d) 2007  

 

112.  

 (a)   (b)  

 (c)   (d)  

 

113.  

 (a)   (b)  

 (c)   (d)  

 

114. (2011)  

 (a)  (b)  

 (c)  (d)  

 

115.  

 (a) –  (b) –  

 (c) –  (d) –  

 

116.  

 (a)  (b)  (c)  (d)  

 

117. 2011  

 (a)  (b)  (c)  (d)  

 

118.  

 (a) 2 (b) 4 (c) 5 (d) 3 

 

119.  

 (a) 5 (b) 2 (c) 3 (d) 1 

 

120.  

 (a) –  (b) –  

 (c) –  (d) –  

 

121.  

 (a) 33 (b) 50 (c) 40 (d) 52 
 

122.  

 (a) –   (b) –  

 (c) –   (d) –  
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123. The inscription of Ashoka in Uttarakhand is situated at ______. 

 (a) Rishikesh (b) Haldwani (c) Kalsi (d) Kashipur 
 

124. Which of the following is not properly matched ?  

 (a) C.B.R.I. – Roorkee  (b) High Court - Nainital 

 (c) Valley of Flowers - Chamoli (d) Bharon Ghati – Pithoragarh  
 

125. Select the correctly matched pair out of the following :  

 (a) Someshwar temple copper plate – Panwar dynasty 

 (b) Hatgaon copper plate – Chand dynasty 

 (c) Pandukeshwar copper plate – Gorkha dynasty 

 (d) Taleshwar copper plate – Parvatakar (Brahmapur) kingdom 
 

126. Name the Chand king who founded his capital at Khasiatola danda, named as Alamnagar : 

 (a) Somchand   (b) Thorchand 

 (c) Balo-Kalyanchand  (d) Rudrachand  
 

127. Who founded his capital at Srinagar ?  

 (a) Manshah (b) Ajaipal (c) Bhanupratap (d) Mahipat Shah  
 

128. Name the river for which kings of Garhwal and Kumaon used to fight to make it their 

border : 

 (a) Kali   (b) East Ramganga  

 (c) West Ramganga   (d) Kosi 
 

129. Which of the following is not related to Uttarakhand ?  

 (a) Kiratas (b) Khasas (c) Jaads (d) Santhals 
 

130. In which year was Uttarakhand Krantidal founded ?  

 (a) 1976 (b) 1979 (c) 1984 (d) 1989 
 

131. Which of the following places is not located in Uttarakhand ?  

 (a) Matipur - Mandawar (b) Lakhamandal - Jaunsar 

 (c) Khalamandal   (d) Haripur 
 

132. Which of the following articles of Indian Constitution put limitations on Legislative 

Powers of Parliament and State Legislature ?  

 (a) Article 13 (b) Article 245 (c) Article 246 (d) All of these  
 

133. When the President of India returns a bill for reconsideration, under Article 111, it is an 

example of which one of the following veto power ?   

 (a) Absolute veto   (b) Qualified veto 

 (c) Suspensive veto  (d) Pocket veto 
 

134. Which one of the following statements is not correct ?  

 (a) The president of India can dissolve the Council of States (Rajya Sabha). 

 (b) Money bill can be introduced in the Lok sabha only. 

 (c) The Council of Ministers is collectively responsible to the Lok sabha. 

 (d) The Governor can be removed by the President.  
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123.  

 (a)  (b)  (c)  (d)  
 

124.  

 (a) –  (b) –  

 (c) –   (d) –  
 

125.  

 (a) –  (b) –  

 (c) –  (d) –  
 

126.  

 (a)  (b)  (c)  (d)  

 

127.  

 (a)  (b)  (c)  (d)  
 

128.  

 (a)  (b)  (c)  (d)  
 

129.  

 (a)  (b)  (c)  (d)  
 

130.  

 (a) 1976  (b) 1979  (c) 1984  (d) 1989  
 

131.  

 (a) –    (b) –  

 (c)    (d)  
 

132.  
 

 (a) 13 (b) 245 (c) 246 (d)  
 

133. 111 
 

 (a)    (b)  

 (c)   (d)  
 

134.  

 (a)  

 (b)  

 (c)  

 (d)  



HAR 25 Series-A 

135. Who among the following can participate in the proceedings of both Houses of the Parliament ? 
 (a) Chief Justice of India  (b) Vice President of India 
 (c) Solicitor General of India (d) Attorney General of India 
 

136. Which one of the following is a function of the speaker of Lok sabha ?  
 (a) To dissolve the Lok sabha (b) To adjourn the Lok sabha 
 (c) Closure of the Lok sabha session (d) All of these 
 

137. Article 249 of Indian Constitution is associated with the process of : 
 (a) Lok sabha    (b) Rajya sabha  
 (c) President of India  (d) Prime Minister  
 

138. Which of the following countries has/have the system of Judicial review ?  
 (a) only in India   (b) only in Britain  
 (c) only in USA   (d) in India and USA 
 

139. Which one of the following is not an organ of the government ?   
 (a) Legislature   (b) Executive 
 (c) Judiciary   (d) Election Commission  
 

140. Which Constitutional Amendment of the Indian Constitution gave constitutional status to 
urban local bodies ?  

 (a) 71
st
 amendment   (b) 72

nd
 amendment 

 (c) 74
th

 amendment  (d) None of these 
 

141. The Indian Constitution provides for the appointment of Ad-hoc judges in which one of the 
following courts ?  

 (a) Supreme Court  (b) High Court 
 (c) District and Sessions Court (d) All of these  
 

142. Who from the following nominates the Chairman of Pubic Accounts Committee of Indian 
Parliament ?  

 (a) The Prime Minister  (b) The President of India 
 (c) The Speaker of Lok sabha (d) The Chairman of Rajya Sabha 
 

143. Which one of the following subject is not included in the Union list ?  
 (a) Defence   (b) Foreign Affairs 
 (c) Interstate Trade and Commerce (d) Law and Order 
 

144. How many members of Anglo Indian Community are nominated by the president of India 
to the Rajya sabha ?   

 (a) 12 (b) 02 (c) 06 (d) 10 
 

145. Who chairs the Joint Session of the Parliament of India ?  
 (a) The Prime Minister of India (b) The senior most member of the parliament 
 (c) Speaker of the Lok sabha (d) Chairman of the Rajya sabha 
 

146. Who holds the charge of the President of India in absence of the President and Vice-President ?  
 (a) Speaker of Lok sabha (b) Governor 
 (c) The Prime Minister of India (d) Chief Justice of the Supreme Court of India 
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135.  

 (a)  (b)  

 (c)  (d)  

 

136.  

 (a)  (b)  

 (c)  (d)  

 

137. 249  

 (a)  (b)  (c)  (d)  

 

138.  

 (a)    (b)  

 (c)  (d)  

 

139.  

 (a)  (b)  (c)  (d)  

 

140.  

 (a) 71  (b) 72  (c) 74  (d)  

 

141.   

 (a)   (b)   

 (c)  (d)  

 

142.  

 (a)  (b)  (c)  (d)   
 

143.   

 (a)    (b)   

 (c)  (d)  
 

144. -  

 (a) 12 (b) 2 (c) 6 (d) 10 
 

145.  

 (a)   (b)  

 (c)   (d)  
 

146.  

 (a)   (b)  

 (c)   (d)  
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147. The quorum to continue a meeting of Lok sabha is  

 (a) 1/10 of the total number of members of the Lok sabha. 

 (b) 1/5 of the total number of the members of the Lok sabha. 

 (c) 1/6 of the total number of the members of the Lok sabha. 

 (d) 1/8 of the total number of the members of the Lok sabha. 

 

148. Under which one of the following Article of the Indian Constitution the provision of 

uniform civil code for the citizens of India throughout the territory of India is provided ?  

 (a) Article 42 (b) Article 43 (c) Article 44  (d) Article 45 

 

149. Who among the following has the authority to alter the boundaries of states in India ?  

 (a) The State Government (b) The Parliament of India 

 (c) The Prime Minister of India (d) The President of India 

 

150. The powers of Judicial Review of the Supreme Court of India has been derived from the 

Constitution of which one of the following countries ?  

 (a) Ireland   (b) United States of America 

 (c) Canada   (d) Great Britain 

 

151. Eighth schedule of the Indian Constitution is associated with  

 (a) Provisions regarding the relationship of President and Governor 

 (b) Forms of Oath 

 (c) Official Language 

 (d) Anti-defection law 

 

152. In Computer Network, LAN stands for : 

 (a) Large Area Network (b) Local Area Network 

 (c) Logical Area Network (d) Local Art Network 

 

153. Every host computer on the internet has  

 (a) A similar IP address  (b) An unique 15 digit number 

 (c) An unique IP address (d) A common name and number 

 

154. Which one of the following is not an application software package ?  

 (a) Red-Hat Linux  (b) Microsoft Office 

 (c) Adobe Pagemaker  (d) Open Office 

 

155. DNS in Internet technology stands for  

 (a) Dynamic Name System  (b) Data Name System 

 (c) Distributed Name System (d) Domain Name System 
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147.  

 (a) 
10

1   (b) 
5

1   

 (c) 
6

1   (d) 
8

1   

 

148. 

 

 (a) 42 (b) 43 (c) 44 (d) 45 

 

149.  

 (a)    (b)  

 (c)   (d)  

 

150. 

 

 (a)    (b)   

 (c)    (d)  

 

151.  

 (a)  

 (b)  

 (c)  

 (d) -  

 

152.  

 (a)   (b)  

 (c)   (d)  

 

153.  

 (a)  (b) 15  

 (c)  (d)  

 

154.  

 (a) -    (b)  

 (c)    (d)  

 

155.  

 (a)   (b)  

 (c)   (d)  
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156. To what temporary area can you store text and other data, and later paste them to another 

location :  

 (a) ROM (b) Hard disk (c) Clipboard (d) CD-ROM 

 

157. Loading operating system onto RAM is called ________.  

 (a) Spooling (b) Booting (c) Saving (d) Buffering 

 

158. A high speed memory device used in CPU for temporary storage during processing is called  

 (a) A Register  (b) A Bus (c) A Data Bus (d) Backside Bus 

 

159. URL stands for  

 (a) Universal Record Locator (b) Uniform Record Locator 

 (c) Uniform Resource Locator (d) Universal Resource Language 

 

160. What is the short cut key to “Undo” the last action in a MS-Word document ?  

 (a) Ctrl + Y (b) Ctrl + U (c) Ctrl + X (d) Ctrl + Z 

 

161. The file extension of MS-Word document in Office 2007 is : 

 (a) .ppt (b) .docx (c) .txt (d) .xls 

 

162. Which protocol provides email facility among different hosts ?  

 (a) FTP (b) SNMP (c) TELNET (d) SMTP 

 

163. Software which allows you to view the web page is called : 

 (a) MS-Office   (b) Interpreter 

 (c) Web Browser   (d) Operating System 

 

164. SQL stands for : 

 (a) Selected Query Language (b) Structured Query Language 

 (c) Special Question Lesson (d) Structured Quick Language 

 

165. Which of the following is known as brain of computer ?  

 (a) CPU (b) Input Unit (c) Monitor  (d) ALU 

 

166. One Megabyte is equal to : 

 (a) 1024 kilobyte   (b) 1024 byte 

 (c) 1024 Terabyte   (d) 1024 Gigabyte 
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156.  

 (a)   (b)  

 (c)    (d) - -  

 

157.  

 (a)  (b)  (c)  (d)  

 

158. 

 

 (a)  (b)  (c)  (d)  

 

159.  

 (a)  (b)  

 (c)   (d)  

 

160.   

 (a)  + Y (b)  + U (c)  + X (d)  + Z 

 

161. 2007  

 (a) .ppt (b) .docx (c) .txt (d) .xls 
 

162. -  

 (a) FTP   (b) SNMP   

 (c) TELNET   (d) SMTP  

 

163.  

 (a) -  (b)  (c)  (d)  

 

164.  

 (a)   (b)  

 (c)   (d)  

 

165.  

 (a)  (b)  (c)  (d)  

 

166. ________  

 (a) 1024   (b) 1024  

 (c) 1024    (d) 1024  
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167. Which one of the following is responsible for nuclear fission ?  

 (a) Neutron (b) Proton (c) Deutron (d) Electron 

 

168. One light year is equal to : 

 (a) 11.103 × 1015 meter  (b) 9.461 × 1015 meter 

 (c) 23.642 × 1015 meter  (d) 18.236 × 1015 meter 

 

169. The order of wavelengths for ordinary light is :  

 (a)  green >  blue >  yellow    (b)  yellow >  blue >  green 

 (c)  yellow >  green >  blue (d)  blue >  yellow >  green 

 

170. Mycorrhiza is a symbiotic association between :  

 (a) Bacteria and roots of higher plants. (b) Fungi and roots of higher plants. 

 (c) Algae and roots of orchids. (d) Bryophytes and orchid roots.  

 

171. The vector of malaria is : 

 (a) Aedes aegypti mosquito (b) Culex pipiens mosquito 

 (c) Anopheles gambiae female mosquito (d) Tse – tse fly  

 

172. Which part of cinnamon tree is used in condiments and medicines ?  

 (a) Roots (b) Wood (c) Flower buds  (d) Bark 

 

173. Thiamine deficiency may result in : 

 (a) Beri Beri (b) Scurvy (c) Sterility (d) Rickets 

 

174. Name the largest gland found in human body :  

 (a) Adrenal (b) Thyroid (c) Liver (d) Pancreas 

 

175. Central Potato Research Institute is situated at : 

 (a) New Delhi (b) Shimla (c) Pant Nagar (d) Cuttack 

 

176. Tendons and Ligaments are  

 (a) Muscular tissues  (b) Epithelial tissues 

 (c) Connective tissues  (d) Skeletal tissues 

 

177. Which blood group has no antibodies ?  

 (a) AB (b) A (c) O (d) B 

 

178. Which of the following hormones is released in excess quantity during excitement ?   

 (a) Vasopressin (b) Relaxin (c) Adrenaline (d) Testosterone  
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167.  

 (a)  (b)  (c)  (d)  

 

168.  

 (a) 11.103  1015   (b) 9.461  1015  

 (c) 23.642  1015   (d) 18.236  1015  

 

169.  

 (a)  >   >   (b)  >  >   

 (c)  >   >   (d)  >  >   

 

170. -  

 (a)  (b)  

 (c)  (d)  

 

171.  

 (a)    (b)    

 (c)    (d) -  

 

172.  

 (a)  (b)  (c)  (d)  

 

173.    

 (a) -  (b)  (c)  (d)  

 

174.  

 (a)  (b)  (c)  (d)  

 

175.  

 (a)  (b)  (c)  (d)  

 

176.  

 (a)  (b)  (c)  (d)  

 

177.  

 (a)  (b)  (c)  (d)  

 

178.  

 (a)  (b)  (c)  (d)  
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179. Absolute alcohol is prepared from rectified spirit by using the following process :  

 (a) Fractional distillation (b) Steam distillation 

 (c) Azeotropic distillation (d) Vacuum distillation 

 

180. The insecticide gammexane is chemically known as :  

 (a) DDT   (b) Benzene hexachloride 

 (c) Chloral   (d) Hexachlorobenzene 

 

181. Which one of the following is a natural substitute for common sugar ?  

 (a) Basil leaves (b) Aloe vera leaves (c) Cinnamon bark (d) Stevia leaves 

 

182. The percentage of nitrogen in urea is :  

 (a) 46 (b) 63 (c) 70 (d) 28 

 

183. 100 gram of ice at 0 °C is mixed with 100 gram of water at 80 °C. What will be the final 

temperature of the mixture ?   

 (a) 0 °C (b) 20 °C (c) 40 °C (d) 90 °C 

 

184. If you climb a mountain from foot hills upwards in Uttarakhand, the likely sequence of 

trees will be :  

 (a) Devdar → Chirpine → Bhojpatra → Sal 

 (b) Chirpine → Sal → Bhojpatra → Devdar 

 (c) Sal → Bhojpatra → Chirpine → Devdar 

 (d) Sal → Chirpine → Devdar → Bhojpatra 

 

185. Who is regarded as the founder of binomial nomenclature of plants and animals ?  

 (a) Charles Darwin  (b) Carl Linnaeus 

 (c) A.R. Wallace   (d) J.D. Hooker 

 

186. The principle hormone for elongation growth in plants is :  

 (a) Cytokinin (b) Ethylene (c) Gibberellin (d) Auxin 

 

187. Which of the two temperature scales are same ?   

 (a) Celsius and Fahrenheit (b) Fahrenheit and Kelvin 

 (c) Kelvin and Celsius  (d) None of these 
 

188. Extra number of which chromosome is responsible for Down’s syndrome (Mongoloid 

Idiot) in man.  

 (a) Chromosome No. 21 (b) X-Chromosome 

 (c) Y - Chromosome   (d) 15 + X Chromosome 
 

189. The sky appears blue, because  

 (a) there is more blue light in sunlight. 

 (b) scattering of sunlight by air particles in the atmosphere.  

 (c) scattering of sunlight by pollution in the atmosphere. 

 (d) other colours are absorbed by heavenly bodies.  
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179.  ? 

 (a)    (b)   

 (c)   (d)  

 

180.  

 (a)    (b)   

 (c)    (d)  

 

181.     

 (a)  (b)  (c)  (d)  

 

182.  

 (a) 46 (b) 63 (c) 70 (d) 28 
 

183. 0 ºC 100 80 ºC 100 
 

 (a) 0 ºC (b) 20 ºC (c) 40 ºC (d) 90 ºC 
 

184.   

 (a)  →  → →  (b)  → →  →  

 (c) → →  →  (d)  → →  →  

 

185.  

 (a)  (b)  (c)  (d)  

 

186.   

 (a)  (b)  (c)  (d)  

 

187.  

 (a)   (b)  

 (c)   (d)  

 

188.  

 (a) 21 (b) X-  (c) Y-  (d) 15 + X  

 

189.  

 (a)  

 (b)  

 (c)  

 (d)  
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190. Who discovered electron ?  

 (a) Rutherford (b) J.J. Thomson (c) Neil Bohr (d) Jacard 

 

191. Non-vascular plants do not contain :  

 (a) Meristematic cells  (b) Xylem vessels 

 (c) Parenchyma cells  (d) Epidermis  

 

192. ELISA test can be used to diagnose :   

 (a) AIDS (b) Polio  (c) Typhoid (d) Cancer 

 

193. How many molecules of ATP are released from one glucose molecule during anaerobic 

respiration ?  

 (a) 38 (b) 36 (c) 12 (d) 02 

 

194. The scientific name of vitamin B
12

 is :  

 (a) Retinol  (b) Riboflavin (c) Cynocobalamine (d) Adramin 

 

195. Which of the following is used as red pigment in making batteries, lead glass and rust 

proof primer paints ?  

 (a) Pb
3
O

4
 (b) PbO (c) PbCrO

4
 (d) Pb(OH)

2
 

 

196. Which of the following is used in water purifiers ?  

 (a) Microwaves (b) Ultra-violet rays (c) X-rays (d) Infra-red rays 

 

197. Who has won the “Ramnath Goenka Excellence in Journalism Award” for investigative 

reporting (print) in January 2019 ?  

 (a) Anand Kumar Patel  (b) Sushant Kumar 

 (c) S. Vijay Kumar  (d) Mridula Chari 

 

198. Which country was the first to be severely hit by a tropical storm “Pabuk” in the beginning 

of year 2019 ?   

 (a) Japan (b) Indonesia (c) Sri Lanka (d) Thailand  

 

199. In the 4
th

 Cricket test match between India and Australia (January 3 to 7, 2019), funds 

were raised to create awareness about which disease ?   

 (a) AIDS (b) Lung Cancer (c) Breast Cancer (d) Heart Attack 

 

200. Who has won the best performance award in a motion picture (Drama) in 76
th

 Golden 

Globe Awards in January 2019 ?  

 (a) Glenn Close (b) Lady Gaga (c) Nicole Kidman (d) Rosamund Pike 

________________ 
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190.  

 (a)  (b)  (c)  (d)  

 

191.  

 (a)   (b)   

 (c)   (d)  

 

192. ELISA  

 (a)  (b)  (c)  (d)  

 

193.  

 (a) 38 (b) 36 (c) 12 (d) 2 
 

194. B12  

 (a)  (b)  (c)  (d)  

 

195.   -
 

 (a) Pb3O4 (b) PbO (c) PbCrO4 (d) Pb(OH)2 

 

196.  

 (a)  (b)  (c) X-  (d)  

 

197. 2019   
  

 (a)   (b)  

 (c)    (d)  

 

198. 2019  

 (a)  (b)  (c)  (d)  

 

199. 3 7 2019 
 

 (a)    (b)   

 (c)   (d)  

 

200. 2019 76  
 

 (a)  (b)  (c)  (d)  
________________ 
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